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2
NRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqj

gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09
ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=  (Model Question Paper)

d{kk%&d{kk%&d{kk%&d{kk%& 12 oha12 oha12 oha12 oha Class 12th

fo"k;%&fo"k;%&fo"k;%&fo"k;%& lekt 'kkL=lekt 'kkL=lekt 'kkL=lekt 'kkL= Subject:- Socialogy
le;%&le;%&le;%&le;%& 3 ?k.Vs3 ?k.Vs3 ?k.Vs3 ?k.Vs Time:- 3 Hours
iw.kkZ ad%&iw.kkZ ad%&iw.kkZ ad%&iw.kkZ ad%& 100100100100 Maximum Marks :-  100

funsZ’k%&1]funsZ’k%&1]funsZ’k%&1]funsZ’k%&1] iz- Ø- 1 ls 10 rd vfry?kq mRrjh; gS A izR;sd ij 02 vad gS Aiz- Ø- 1 ls 10 rd vfry?kq mRrjh; gS A izR;sd ij 02 vad gS Aiz- Ø- 1 ls 10 rd vfry?kq mRrjh; gS A izR;sd ij 02 vad gS Aiz- Ø- 1 ls 10 rd vfry?kq mRrjh; gS A izR;sd ij 02 vad gS A
Quastion No.1 to 10 are very short answer type quastion. Each

quastion carry 2 marks.

2. iz- Ø- 11 ls 24 rd y?kq mRrjh; gS A iz- Ø- 11 ls 22 rd izR;sd ijiz- Ø- 11 ls 24 rd y?kq mRrjh; gS A iz- Ø- 11 ls 22 rd izR;sd ijiz- Ø- 11 ls 24 rd y?kq mRrjh; gS A iz- Ø- 11 ls 22 rd izR;sd ijiz- Ø- 11 ls 24 rd y?kq mRrjh; gS A iz- Ø- 11 ls 22 rd izR;sd ij
03 vad gS A iz'u Ø- 23 ,oa 24 ds 4&4 vad gS A03 vad gS A iz'u Ø- 23 ,oa 24 ds 4&4 vad gS A03 vad gS A iz'u Ø- 23 ,oa 24 ds 4&4 vad gS A03 vad gS A iz'u Ø- 23 ,oa 24 ds 4&4 vad gS A
Quastion No.11 to 22 are short answer type quastion. Each quastion

carry 3 marks. Quastion No. 23 and 24 are also short types and carries

4 marks each.

3 -3 -3 -3 - iz- Ø- 25 ls 30 rd nh?kZ ?kqmRrjh; gS A izR;sd ij 06 vad gS Aiz- Ø- 25 ls 30 rd nh?kZ ?kqmRrjh; gS A izR;sd ij 06 vad gS Aiz- Ø- 25 ls 30 rd nh?kZ ?kqmRrjh; gS A izR;sd ij 06 vad gS Aiz- Ø- 25 ls 30 rd nh?kZ ?kqmRrjh; gS A izR;sd ij 06 vad gS A
Quastion No.25 to 30 long answer type quastion. Each quastion carry

06 marks.

vfr y?kqmRrjh; iz'u &vfr y?kqmRrjh; iz'u &vfr y?kqmRrjh; iz'u &vfr y?kqmRrjh; iz'u &

iz’u 1&iz’u 1&iz’u 1&iz’u 1& vkJe ds nks izeq[k egRo fyf[k;s \vkJe ds nks izeq[k egRo fyf[k;s \vkJe ds nks izeq[k egRo fyf[k;s \vkJe ds nks izeq[k egRo fyf[k;s \

Write two main Significance of 'Ashrams'.

iz’u 2&iz’u 2&iz’u 2&iz’u 2& o.kksZ ds nks izeq[k drZO; D;k gSa \o.kksZ ds nks izeq[k drZO; D;k gSa \o.kksZ ds nks izeq[k drZO; D;k gSa \o.kksZ ds nks izeq[k drZO; D;k gSa \

What are the two main duties of 'Varna'?

iz’u 3&iz’u 3&iz’u 3&iz’u 3& tkfr ds dksbZ nks xq.k crkb;s Atkfr ds dksbZ nks xq.k crkb;s Atkfr ds dksbZ nks xq.k crkb;s Atkfr ds dksbZ nks xq.k crkb;s A

Give two properties of Caste .

iz’u 4&iz’u 4&iz’u 4&iz’u 4& ukrsnkjh ds nks izdkj crkb;s Aukrsnkjh ds nks izdkj crkb;s Aukrsnkjh ds nks izdkj crkb;s Aukrsnkjh ds nks izdkj crkb;s A

Write two type of relationship.
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iz’u 5&iz’u 5&iz’u 5&iz’u 5& tutkfr;ksa dh leL;kvksa ds fuokj.k ds nks mik; crkb;s Atutkfr;ksa dh leL;kvksa ds fuokj.k ds nks mik; crkb;s Atutkfr;ksa dh leL;kvksa ds fuokj.k ds nks mik; crkb;s Atutkfr;ksa dh leL;kvksa ds fuokj.k ds nks mik; crkb;s A

Write two solution for the problem of Sheduled tribes.

iz’u 6&iz’u 6&iz’u 6&iz’u 6& xksM+ tutkfr dh nks fo'ks"krk,a crkb;s \xksM+ tutkfr dh nks fo'ks"krk,a crkb;s \xksM+ tutkfr dh nks fo'ks"krk,a crkb;s \xksM+ tutkfr dh nks fo'ks"krk,a crkb;s \

Write two properties of 'Gond' sheduled tribe.

iz’u 7&iz’u 7&iz’u 7&iz’u 7& oSKkfud i)fr dk dksbZ ,d ifjHkk"kk fyf[k, AoSKkfud i)fr dk dksbZ ,d ifjHkk"kk fyf[k, AoSKkfud i)fr dk dksbZ ,d ifjHkk"kk fyf[k, AoSKkfud i)fr dk dksbZ ,d ifjHkk"kk fyf[k, A

Write one definition of methoology.

iz’u 8&iz’u 8&iz’u 8&iz’u 8& tutkfr ifjokj dh dksbZ nks fo'ks"krk,¡ crkb;s Atutkfr ifjokj dh dksbZ nks fo'ks"krk,¡ crkb;s Atutkfr ifjokj dh dksbZ nks fo'ks"krk,¡ crkb;s Atutkfr ifjokj dh dksbZ nks fo'ks"krk,¡ crkb;s A

Write two properties of  sheduled tribe family.

iz’u 9&iz’u 9&iz’u 9&iz’u 9& cgqyd dk lw= fyf[k;s Acgqyd dk lw= fyf[k;s Acgqyd dk lw= fyf[k;s Acgqyd dk lw= fyf[k;s A

Write the formula for mode.

iz’u 10&iz’u 10&iz’u 10&iz’u 10& ekf/;dk ds dksbZ nks xq.k crkb;s Aekf/;dk ds dksbZ nks xq.k crkb;s Aekf/;dk ds dksbZ nks xq.k crkb;s Aekf/;dk ds dksbZ nks xq.k crkb;s A

Write any two properties of median.

y?kqmRrjh; iz'u &y?kqmRrjh; iz'u &y?kqmRrjh; iz'u &y?kqmRrjh; iz'u &

iz’u 11&iz’u 11&iz’u 11&iz’u 11& xkao ,oa uxj esa varj fyf[k, dksbZ rhu Axkao ,oa uxj esa varj fyf[k, dksbZ rhu Axkao ,oa uxj esa varj fyf[k, dksbZ rhu Axkao ,oa uxj esa varj fyf[k, dksbZ rhu A

Write  three difference between village and town.

iz’u 12&iz’u 12&iz’u 12&iz’u 12& Hkkjr esa vuqlwfpr tkfr dh leL;kvksa ds fuokj.k ds rhu mik; crkb;s AHkkjr esa vuqlwfpr tkfr dh leL;kvksa ds fuokj.k ds rhu mik; crkb;s AHkkjr esa vuqlwfpr tkfr dh leL;kvksa ds fuokj.k ds rhu mik; crkb;s AHkkjr esa vuqlwfpr tkfr dh leL;kvksa ds fuokj.k ds rhu mik; crkb;s A

Write three solutions for the poblems of sheduied caste in India.

iz’u 13&iz’u 13&iz’u 13&iz’u 13& Hkkjr esa efgykvksa dh dksbZ rhu leL;k,a crkb;s AHkkjr esa efgykvksa dh dksbZ rhu leL;k,a crkb;s AHkkjr esa efgykvksa dh dksbZ rhu leL;k,a crkb;s AHkkjr esa efgykvksa dh dksbZ rhu leL;k,a crkb;s A

Write three problem of women in India.

iz’u 14iz’u 14iz’u 14iz’u 14 ifjokj dh fo'ks"krk,a crkb;s A dksbZ rhu Aifjokj dh fo'ks"krk,a crkb;s A dksbZ rhu Aifjokj dh fo'ks"krk,a crkb;s A dksbZ rhu Aifjokj dh fo'ks"krk,a crkb;s A dksbZ rhu A

Write three properties of a family.

iz’u 15&iz’u 15&iz’u 15&iz’u 15& tutkfr dh dksbZ rhu fo'ks"krk,a crkb;s Atutkfr dh dksbZ rhu fo'ks"krk,a crkb;s Atutkfr dh dksbZ rhu fo'ks"krk,a crkb;s Atutkfr dh dksbZ rhu fo'ks"krk,a crkb;s A
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Write three properties of sheduled tibe.

iz’u 16&iz’u 16&iz’u 16&iz’u 16& tutkfr fookg dh dksbZ rhu fo'ks"krk,a crkb;s Atutkfr fookg dh dksbZ rhu fo'ks"krk,a crkb;s Atutkfr fookg dh dksbZ rhu fo'ks"krk,a crkb;s Atutkfr fookg dh dksbZ rhu fo'ks"krk,a crkb;s A

Write three properties of marriage in sheduled tribes.

iz’u 17&iz’u 17&iz’u 17&iz’u 17& jkeÑ".k fe'ku ds izeq[k rhu fl)kar crkb;s AjkeÑ".k fe'ku ds izeq[k rhu fl)kar crkb;s AjkeÑ".k fe'ku ds izeq[k rhu fl)kar crkb;s AjkeÑ".k fe'ku ds izeq[k rhu fl)kar crkb;s A

Write three principles of 'Ram Krishna Mission'.

iz’u 18&iz’u 18&iz’u 18&iz’u 18& oSKkfud i)fr dh dksbZ rhu fo'ks"krk,a crkb;s AoSKkfud i)fr dh dksbZ rhu fo'ks"krk,a crkb;s AoSKkfud i)fr dh dksbZ rhu fo'ks"krk,a crkb;s AoSKkfud i)fr dh dksbZ rhu fo'ks"krk,a crkb;s A

Write three  properties of methodology.

iz’u 19&iz’u 19&iz’u 19&iz’u 19& vuqlwph ds xq.k crkb;s dksbZ rhu Avuqlwph ds xq.k crkb;s dksbZ rhu Avuqlwph ds xq.k crkb;s dksbZ rhu Avuqlwph ds xq.k crkb;s dksbZ rhu A

Write three properties of shedile.

iz’u 20&iz’u 20&iz’u 20&iz’u 20& lk{kkRdkj ds izdkjksa dk uke crkb;s Alk{kkRdkj ds izdkjksa dk uke crkb;s Alk{kkRdkj ds izdkjksa dk uke crkb;s Alk{kkRdkj ds izdkjksa dk uke crkb;s A

Write the name of types of interview.

iz’u 21&iz’u 21&iz’u 21&iz’u 21& lkaf[;dh ds dksbZ rhu nks"k crkb;s Alkaf[;dh ds dksbZ rhu nks"k crkb;s Alkaf[;dh ds dksbZ rhu nks"k crkb;s Alkaf[;dh ds dksbZ rhu nks"k crkb;s A

Write three demerits of statistics.

iz’u 22&iz’u 22&iz’u 22&iz’u 22& iz'ukoyh ds dskbZ rhu xq.k fyf[k;s Aiz'ukoyh ds dskbZ rhu xq.k fyf[k;s Aiz'ukoyh ds dskbZ rhu xq.k fyf[k;s Aiz'ukoyh ds dskbZ rhu xq.k fyf[k;s A

Write three properties of questionaire.

iz’u 23&iz’u 23&iz’u 23&iz’u 23& tkfr ds dksbZ pkj fo'ks"krk,a crkb;s Atkfr ds dksbZ pkj fo'ks"krk,a crkb;s Atkfr ds dksbZ pkj fo'ks"krk,a crkb;s Atkfr ds dksbZ pkj fo'ks"krk,a crkb;s A

Write four properties of cast.

iz’u 24&iz’u 24&iz’u 24&iz’u 24& voyksdu ds izeq[k dksbZ pkj xq.k fyf[k;s Avoyksdu ds izeq[k dksbZ pkj xq.k fyf[k;s Avoyksdu ds izeq[k dksbZ pkj xq.k fyf[k;s Avoyksdu ds izeq[k dksbZ pkj xq.k fyf[k;s A

Write four properties of observation..

nh?kZ mRrjh; iz'unh?kZ mRrjh; iz'unh?kZ mRrjh; iz'unh?kZ mRrjh; iz'u

iz’u 25&iz’u 25&iz’u 25&iz’u 25& o.kZ ds egRo dk o.kZu dhft;s Ao.kZ ds egRo dk o.kZu dhft;s Ao.kZ ds egRo dk o.kZu dhft;s Ao.kZ ds egRo dk o.kZu dhft;s A

Explain the significance of 'Varna'.
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iz’u 26&iz’u 26&iz’u 26&iz’u 26& Hkkjr esa efgykvksa dh orZeku fLFkfr ij ,d fuca/k fyf[k;s AHkkjr esa efgykvksa dh orZeku fLFkfr ij ,d fuca/k fyf[k;s AHkkjr esa efgykvksa dh orZeku fLFkfr ij ,d fuca/k fyf[k;s AHkkjr esa efgykvksa dh orZeku fLFkfr ij ,d fuca/k fyf[k;s A

Write a passage on the present condition of women.

iz’u 27&iz’u 27&iz’u 27&iz’u 27& ngst izFkk ij ,d ys[k fyf[k;s Angst izFkk ij ,d ys[k fyf[k;s Angst izFkk ij ,d ys[k fyf[k;s Angst izFkk ij ,d ys[k fyf[k;s A

Write a passege on the dowary custum in India.

iz’u 28&iz’u 28&iz’u 28&iz’u 28& czEg lekt ij ,d ys[k fyf[k;s AczEg lekt ij ,d ys[k fyf[k;s AczEg lekt ij ,d ys[k fyf[k;s AczEg lekt ij ,d ys[k fyf[k;s A

Write a passage on 'Bramha Samaj'.

iz’u 29&iz’u 29&iz’u 29&iz’u 29& voyksdu dh ifjHkk"kk nhft;s rFkk blds izdkjksa dk o.kZu dhft;s Avoyksdu dh ifjHkk"kk nhft;s rFkk blds izdkjksa dk o.kZu dhft;s Avoyksdu dh ifjHkk"kk nhft;s rFkk blds izdkjksa dk o.kZu dhft;s Avoyksdu dh ifjHkk"kk nhft;s rFkk blds izdkjksa dk o.kZu dhft;s A

Define observation and explain its types.

iz’u 30&iz’u 30&iz’u 30&iz’u 30& iz'ukoyh ,oa vuqlwph esa varj Li"V dhft;s Aiz'ukoyh ,oa vuqlwph esa varj Li"V dhft;s Aiz'ukoyh ,oa vuqlwph esa varj Li"V dhft;s Aiz'ukoyh ,oa vuqlwph esa varj Li"V dhft;s A

Write the difference btween questionaire and shedule.


